National Testing Agency

Notations:
1.0ptions shown in green color and with +" icon are correct.
2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name: 34 Nepali 27th Aug 2024 Shift 2
Subject Name: 34 Nepali

Creation Date : 2024-08-27 20:57:30
Duration : 180

Total Marks : 300

Display Marks: Yes

Change Font Color : No

Change Background Color : No

Change Theme: No

Help Button: No

Show Reports : No

Show Progress Bar : No

Nepali and General Paper

Group Number : 1

Group Id : 34212344
Group Maximum Duration : 0

Group Minimum Duration : 180
Show Attended Group?: No

Edit Attended Group?: No
Break time: 0

Group Marks : 300

General Paper

Section Id : 34212398
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 342123288
Question Shuffling Allowed : No

Question Id : 3421237241 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421237242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421237243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421237244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421237245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421237246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421237241 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421237242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421237243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421237244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421237245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421237246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.710
2.704
3. 706

4.708

Sub-Section Number : 2
Sub-Section Id : 342123289
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421237247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421237247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421237248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421237248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421237249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421237249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421237250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421237250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421237251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421237251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421237252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421237252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421237253 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421237253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FrgfaRad § U foog QY Sffidhed H Tidael uuul & G g+ B GHIG Bl 62

A, Ui g

B. 3¢ e 3G

C. U 3T

D. U5 (PIg10) AT

I fGu U fadedl § U @gT IR &1 944 DI

| Hdd A AR B

2. $dd A, BIRD

3. Hdd A, C IR D

4. $H9dAB,C 3R D

Question Number : 13 Question Id : 3421237254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421237254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421237255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421237255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421237256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421237256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421237257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421237257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421237258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421237258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421237259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421237259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421237260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421237260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.4,C,D,B,E
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4. E.ACBD

Question Number : 20 Question Id : 3421237261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421237261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV
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2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421237262 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421237262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421237263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421237263 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
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3,212,590
4.215%0

Question Number : 23 Question Id : 3421237264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421237264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421237265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421237265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U FfSd B oG YTV T, 206G FLOUT &l “IIRRW" ¥ Picd bl Sl 8, 7d Teg
‘CLING” &I &< gl|

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421237266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421237266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421237267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421237267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421237268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421237268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421237269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421237269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421237270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421237270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 H 9 &I 91 9ed a%ad & HH H gaid g2

[

3. JBIOT. IO, WU/ 3, UTST TasATd

Question Number : 30 Question Id : 3421237271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421237271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421237272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421237272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421237273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421237273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421237274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421237274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-IILL B-1, C-1IV, D-1I

el

. A-TV, B-1. C-III, D-IT

4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421237275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421237275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421237276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421237276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421237277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421237277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421237278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421237278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421237279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421237279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T VG 1 AU 3R AR S o fere e & 9 fdwer T fobar o g2
1. V3R (RADAR)
2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421237280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421237280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421237281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421237281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421237282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421237282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421237283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421237283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421237284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421237284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421237285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421237285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421237286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421237286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-II, B-TII. C-IV, D-I

(5]

-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123290
Question Shuffling Allowed : No



Question Id : 3421237287 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421237288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421237289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421237290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421237291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421237292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421237287 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421237288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421237289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421237290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421237291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421237292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Nepali
Section Id : 34212399
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123291
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421237293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421237293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421237302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 60 Question Id : 3421237302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[FfcRaaHe ! g HIRE I GIb! HTI®] dgR 16l Swd dadi Ulgdl HTTd!
SR o fufd g

1. URTATD fgHTdd]
2. GrUfEie g
3. U fevifear
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Question Number : 61 Question Id : 3421237303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. FATD! SUEHT FigaH AT S{Ufed B
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3, QIiEel SiaH R ST TR AR 6D |
4. SATa-TH1 ST, TS Sitdg-d, Iid = g 3 siaal|

Question Number : 61 Question Id : 3421237303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 62 Question Id : 3421237304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 62 Question Id : 3421237304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421237305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421237305 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 64 Question Id : 3421237306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. &1 SR 31 SIE AHH] g

Question Number : 64 Question Id : 3421237306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 65 Question Id : 3421237307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 65 Question Id : 3421237307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 66 Question Id : 3421237308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 66 Question Id : 3421237308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 67 Question Id : 3421237309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 67 Question Id : 3421237309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 68 Question Id : 3421237310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 68 Question Id : 3421237310 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421237311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421237311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 70 Question Id : 3421237312 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 70 Question Id : 3421237312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421237313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421237313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 72 Question Id : 3421237314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 72 Question Id : 3421237314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421237315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421237315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SSIPTIHI 2 1 D! WA G DI il TR
1. R G, Al 1 g ! Wit e iR oA
2. RrgTaen! AT, Rigre! wermn a1 STt o
3. T, UfcigTiichal X A T i
4. QAU 31927 R TTeh! TR0l T Hid] St (T ] Sudiedia Hit

Question Number : 74 Question Id : 3421237316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR el URATHT 5% 312 ORI TR 3R 3 31 981 T U] 0 oGl il IR
Q2] 1PN TND! SFHd 87

| THY
2, fepy

3. g
4. JfAEIR

Question Number : 74 Question Id : 3421237316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 75 Question Id : 3421237317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 75 Question Id : 3421237317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 76 Question Id : 3421237318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 76 Question Id : 3421237318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421237319 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421237319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 78 Question Id : 3421237320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIEYibieggledl SRl Huell $gad fohaTaeaT ] IR 34 A 4t afdichl Wier
RS A GRS N E R GARA UKk

LHS

2.%dP




Question Number : 78 Question Id : 3421237320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421237321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421237321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 80 Question Id : 3421237322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 80 Question Id : 3421237322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 3421237323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 81 Question Id : 3421237323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421237324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421237324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421237325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 83 Question Id : 3421237325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



@. HigH 34 d SiieA|

. Algd O G5 I o Sl |
- JUY K] gadel drefdd Dl 1Al e g2

1.9%%
2. A4l

3. fAfgand
4. GiGTdr

Question Number : 84 Question Id : 3421237326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 3421237326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
B 2
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Question Number : 85 Question Id : 3421237327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 3421237327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421237328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421237328 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 3421237329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(T SR U iad] GaHT Tod] o B Tl gl
1, RIS SRR o] e TRI ] fagelu TR ey Fepiers |
2. (I SR Ui d I 9] Wi TR
3. (TETaI ST Hifdd! T Tdpidch faRTeiT Swayd Qe gl

4, STTHATED TG THYHTIDT STHRE TR T B TR FTHTHD SR 4
AUl HERA TR 1Y Bz |

Question Number : 87 Question Id : 3421237329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421237330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421237330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421237331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421237331 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

YINTeh] SR AT Teib] S S UHEE D] GHIHH Giow?

A. G HIY] dier] dadlged] G=ed] 3 YRTifes [a%R & Sl &2
B. Y HINIG] Ydield HId UGHe Sars HH® 317

C. gHId! URdfdd 3aGdhdl TR o8- Ugidd! [dbg & HeRl T
D. Y% HINI! U [-TTd UHeudl 3 AHSIHR0 HE] 747

E. T4IG HITiTed fa%IR UIUdh] Qg YINTdHT Hiftd e & Bid 52

frfeiad fabeuare Uel I 3 gy

1.B,C.DHH

2.C,D,EHHA
3.A.B.EHHA

4.B,D.EHHA



Question Number : 114 Question Id : 3421237356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 31 G A W B

|
B, “HIYd! UEIHI 3 U 9808 HI SR IS THGGRI TSI HUH! 5|
C. ‘TP e 2d YGRAICIH Blod Y] ek 7 |
D, ‘A1l TRPIH! JbTTel i b JEH{H TR 7
E. TGl T 7 ST Taw GRATE] HTaeh1 T 8 HebiiRid g3

Faioaa fadeusTe gl 3R S gl

1.B,C,D HHA

2.A,B,CHHA
3.AD.EHHA

4.B.C.EHH

Question Number : 114 Question Id : 3421237356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T 31 G A W B

|
B, “HIYd! UEIHI 3 U 9808 HI SR IS THGGRI TSI HUH! 5|
C. ‘TP e 2d YGRAICIH Blod Y] ek 7 |
D, ‘A1l TRPIH! JbTTel i b JEH{H TR 7
E. TGl T 7 ST Taw GRATE] HTaeh1 T 8 HebiiRid g3

FafciRad fdedre gl I S gy

1.B,C,D HHA

2.A,B,CHHA
3.AD.EHHA

4.B.C.EHH

Question Number : 115 Question Id : 3421237357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e R T (3 ¥ 4R 448 0T UG Ry Ted WiRe weeTiee e o

A, TG DI ! el ol ] YT T8 Slcaiedl 4|

B. BIGHISIAIC HGd URST SR Pl UHIRH 39 BIedl Jiicrd|

C. el et et Seft X ferit HaTggn g iR TSAde fefec Wel 3
“Tefell GHR: el Wigedel W1 11|

D. Wﬂ?@%@%ﬁ@?ﬁﬁ%@wwmwm$w
REDCRIIFIR @Wsmw&ﬁ

E. B1¢T, YIQ X A THEE ucoHchl st e MR 1| ) A P
EARERIY |

i fddeudre §gl I &1 gyl

I.A,B,DHHA

2.B,C,EHM

3.A.CCEHA

4.B.D,EHHA

Question Number : 115 Question Id : 3421237357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e R T (3 ¥ 4R 448 0T UG Ry Ted WiRe weeTiee e o

A, TG DI ! el ol ] YT T8 Slcaiedl 4|

B. BIGHISIAIC HGd URST SR Pl UHIRH 39 BIedl Jiicrd|

C. el et et Seft X ferit HaTggn g iR TSAde fefec Wel 3
“Tefell GHR: el Wigedel W1 11|

D. Wﬂ?@%@%ﬁ@?ﬁﬁ%@wwmwm$w
REDCRIIFIR @Wsmw&ﬁ

E. B1¢T, YIQ X A THEE ucoHchl st e MR 1| ) A P
EARERIY |

i fddeudre §gl I &1 gyl

I.A,B,DHHA

2.B,C,EHM

3.A.CCEHA

4.B.D,EHHA

Question Number : 116 Question Id : 3421237358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG UIARIE Hieh! HINTHIT HTST YIITh] UicRIe gl
- 3 D! g YRS 312 & g

A. ST HISTHITY ST R TG g e o1 6 |

B. RisT=d UlcRI¢T HRUN HINTeTs G AHEUS 99 gl 56 |
c. NS W U 3 yd 9<a |

D. ATHRUD] HIHEd HINTH HASTREB Glac|
E. 911 S FaHe 1T deaH |

fgfeiRad fqdeudic gl 3w 3rd gy

l.A,B.C,EHH

2.B,C.D.EHHA
3.3A.C,D.EHHA

4. A B.D.EHHA

Question Number : 116 Question Id : 3421237358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GG Uy {1 HINTHTT YIS TRTeh] Uiy gl 1
- S NS 99 YIS S 3R/ & gl

A. HTAEATE U ST RS TG g 3aER o1 6 |

B. RIS UIRIY®] HRUI HINTelTs HETdID! HHGUS 94 gl 3 |
c. [T @ay Ui s yas d<a |

D. HERUIG] (HIHIGEI YD SASTRS aldc |
E. STl S FaHe UIe] e |

frafeiad fadeuare 98l SR S Y|

l.A,B.C,EHH

2.B,C.D,EHHA
3.A,C,D,EHH

4.A.B.D,EHHA



Question Number : 117 Question Id : 3421237359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g ST 30 WL - 79 IS G- AT FafRed ST $1 §7 961 31

A. T S190H1 Y& G Wmeﬂww
B. ‘ST U¢ 160 DR e gl

C. "SI 3T W - 79 dIee! 947 Y gl
D. 79 G W ha1eh] ST T 3 X SR HUh! B

E. “THiged 79 JP RS 06 8l

g faheusre 9l S ST 3

I.B.C.DHH
2.A.CCEHA
3.C,D,EHHA

4 A C.DHHA

Question Number : 117 Question Id : 3421237359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g T 31U T - 79 1] GeHAT Fafaad Sy §7 §4 98 &

A, T9 G Wgad T Wmﬂmﬂaﬂw
B. ‘I UG T80 PRI IGTGR 6l

C. "1 3T 0 - 9 dIch] fdera UmT gl
D, 79 a1 G fohTeh] S UTaH T 3 3ER SFHR HUP! |

E. g T a0 [ 16 3l
fafead fadegsre 98l I SR e

[.B.C,DHHA

2.A.CCEHHA
3.C.D.EHHA

4 A.C.DHHA



Question Number : 118 Question Id : 3421237360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0T WG IRTYT IeIUles TR U iR H1o8.-Bid TeHTHT SR Tl
HRIETED & b g

A. YT & AR fapr
B. 0Tl i yIiged! ST Ua
C. YDl [V GG IR dlbad] 3of

D. TR Uil Hifghdd AR
E. faf ¥ ik Smems ! yura

iR fapeadre 9gl I 9 Bl

I.A,B,DHHA

2.B.C.EHHA
3.A.C.DHHA

4.B,D,EHA

Question Number : 118 Question Id : 3421237360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



0T WG IRTYT IeIUles TR U iR H1o8.-Bid TeHTHT SR Tl
HRIETED & b g

A. YT & AR fapr

B. 0Tl i yIiged! ST Ua
C. YDl [V GG IR dlbad] 3of

D. TR Uil Hifghdd AR
E. faf ¥ ik Smems ! yura

iR fapeadre 9gl I 9 Bl

I.A,B,DHHA

2.B.C.EHHA
3.A.C.DHHA

4.B,D,EHA

Question Number : 119 Question Id : 3421237361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIGTIATGER AP G P Y13 Hg1 &, g g

A, RIS - T G T YWY Waia off Ul 91 3

B. YR [ TS ol Ei¥ T TR G Hgd ol Ue ¥ g1 faggd dedees Wer o
. HIddrg U3el Afddrd] e waf 3l

D. YR b To bl gRard SifTaaledl feru R

E. U 31 el S gd FRIR &iardies g

FfaRad fapeuere 9El S S By

.B,C,EHHA

2.A.B.DHHA
3.A.DHH

4.A,D,EHMA

Question Number : 119 Question Id : 3421237361 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

HETTATGER TP G P YIS g1 B, o g

A, RIS - T G T YWY Waia off Ul 91 g

B. YR [ TSl T SR fGHgd ol Ue ¥ g1 fabgd dedees Wer o
C. HRTcdalg U3l fddIc] fe Ugf gl

D. Wi TSl 4Rare] Sfdadica! S R

E. W 3 3fciad 1 gd FRIR Hieiadrdics &1l

FfaRad fameusre 9el S| SR By

I.B,C,EHHA

2.A.B.DHH
3.A.DHH

4.A,D,EHMA

Question Number : 120 Question Id : 3421237362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RAERFT T At S{eRHT T3 AT GEAR 7! G-GHHT qad] 4 - B Tl
RE)

A, SETHI AT TET U ~aRAH1 4 31 7iid T e |

B. ORI S| U 41T 20|

¢. BRI AT 4 AT TR |
DGR R F R URRINGE T

E. TS TTe] ATl e |
FgfcRed fadhegsTe 9gl I SR Byl

I.A,B,CHHA

2.B.C.DHHA
3.C.D.EHHA

4.B.C.EHHA



Question Number : 120 Question Id : 3421237362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR EUct [ S{eRHT T3 AT §EAR 7] G-GHH qad] 4 - BUF gl
T

A, SETHI AT TET U ~aRAH1 4 31 7iid T e |

B. ORI S| U 41T 20|

¢. BRI AT 4 AT TR |
DGR R F R URRINGE T

E. TS TTe] ATl e |
FgfcRed fadhegsTe 9gl I SR Byl

I.A,B,CHHA

2.B.C.DHHA
3.C.D.EHHA

4.B.C.EHHA

Question Number : 121 Question Id : 3421237363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



orgrelen o SR WY Spuf Ao, AIwfrep, WPy fawaeet ary Wigeash! et
U forTTe et Rirgeien e EnfR Tl Wi U e & 1
- T RS AR G P g1 GRaw)

A, PII] R eIy HATTT M Higed 7 SR gl
B ﬁangﬁa% TS UFAT g AT il i sriduad siaarem e

3|

C. ST T ST HTHTE S lich! LA FTRIATHARIS felwFerrs
g P! TEUITER fa&iR RIded |

D, 1P faWg 4Tel Sy IR SfigRud! Hfehar 81|

E. A7 fawgen! G Hifde STafe! 99 Eedsd 8l

iR fapeuere 9el I B Bl

I.A,C,D,EHA

2.B.D,EHM
3.C.D,EHM

4.A.C.DHHA

Question Number : 121 Question Id : 3421237363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



orgrelen o SR WY Spuf Ao, AIwfrep, WPy fawaeet ary Wigeash! et
U forTTe et Rirgeien e EnfR Tl Wi U e & 1
- T RS AR G P g1 GRaw)

A, PII] R eIy HATTT M Higed 7 SR gl
B ﬁangﬁa% TS UFAT g AT il i sriduad siaarem e

3|

C. ST T ST HTHTE S lich! LA FTRIATHARIS felwFerrs
g P! TEUITER fa&iR RIded |

D, 1P faWg 4Tel Sy IR SfigRud! Hfehar 81|

E. A7 fawgen! G Hifde STafe! 99 Eedsd 8l

iR fapeuere 9el I B Bl

I.A,C,D,EHA

2.B.D,EHM
3.C.D,EHM

4.A.C.DHHA

Question Number : 122 Question Id : 3421237364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FAfeIREd aTeRIAT BIFDIL IGHT T P (AU SUAIRID] Jalg0l g2

NGCEGEIELIEN

B. [HFH SR 0] TG 4 B |

C. [ A ddll o1 &l A AR gl

D. [dIdlT3 of 7 79 d'a] Igl TR

E. [ SIS HI R 01 9] o oI H S T |
frafaRad fadeudre Tel 3w &g g

LA, B,CHHA

2.B,D,CHEA

3.C,D.EHH

4 A.C.DHHA

Question Number : 122 Question Id : 3421237364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[FECIRId T DINHIL gD P 1 ARV JYAIRID] IaIe0 g2

NGENEIESIE

B. [HIHH SR 30 I 4 G |

C. [SH 9l Jalls g1 &l /S R gl
D. [ddls o TH H- d1e] el TR

E. [ 1 X3 T 9] 9 oI H $d |

fFafaRad fadegdre Ugl 3w &g gyl

.A,B.CHHA

2.B,D,CHIHA
3.C,D.EHHA

4. A, C,DHHA

Question Number : 123 Question Id : 3421237365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FR GG GRIBH HWT FIdH IRID] Foid] Heldh GHg o7 g
A. Bl & UIYTD] RIS S, pid X THIfa S RigTIare URd &1

B. B! & WIS fefa FrgTogdTe! I SR HHTeadicl gl df-<d @1
C. B & HIHID! TeldTel YRl AT ol fayHT (IR eS|
D. BTl & HIHTD! o] U321 Ugf 1P B 9 Sl Hifddare] & |
E. gIH & HIHS! I~ Ggu TR S|

frafaRad fadeuere 9gl 3 89 Y|

1.A,B.D.EHA

2.A.B,.C.EHHA
3.A,C,D,EHHA

4.B.C,D.EHHA

Question Number : 123 Question Id : 3421237365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FR TG TRIBHT G TTqHc RIDHT Hwioddh| Geid 94g g e

A. Bl & UTYTD! RT<I dal, Spid X THIfagHS RigTare YR @1
B. Bl & WIYThI fefa FrgreddTe] X 3R HHIeHdie] gl di<d 91

C. B & HIHTD] TawiTel SRl Saehixl I ol fayHT faaRu TEs |

D. 5141 & UTHT! feah] U3 el U8 A1 Bl I i Hifdbarg) 3|

E. 3 & HIHS! Js1~I T4 TR S|

fafaRad fadeusre gel 3w B Y|

1.A,B,D,EHHA

2.A,B,C.,EHHA
3.A,C,D,EHHA

4.B.C,D,EHHA

Question Number : 124 Question Id : 3421237366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



f3el i ¥ I FHGTIa ] G B 4 Tl S

A, Il TPidars SRR Y] FH GO TR|

B. PIdo] FgT< U3¢ Wil TRale U HUd! gdare gl

C. PIID] AHNGD IR g IR giId! 3§ ol d B

D. B! HUTFAGATR T3e] Hlldd GRd] U fo Tidhws T 41 Tgol JH!
ERIEEEE]

E. el TRAY a9 3 faeTe] (Hare! SRauedid! fdaily R |

FacRad fadedsTe el 3 91 By

.B.C,DHHA

2.C,D,EHHA
3.A,B.EHH

4.A.C.DHHA

Question Number : 124 Question Id : 3421237366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

§TSCl i ¥ 3 RIGIIaN dad] G 3 HY Tl &)

A. eI TPIdelTs TN G EH G0 TR

B. o] RIgI U3¢ Uigidid TRale U HUd! 3fedalg ol

C. o] NS TUR®! G W1 ¥ giId! 3 galdd B

D. BIdP! IR T3] halldd G| U fo Fidh R 4l Ygol FH!
e RIEEE]

E. Shidcl AT {109 ¥ fae1en! fame! sravgdia fadly R |

FafcRad faheaaTe Gel 3 1 gl

.B.C,DHHA

2.C,D,EHH
3.A,B,EHA

4.A.C.DHH



Question Number : 125 Question Id : 3421237367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl U UATohT S T oelehl Gl el e el &)

A, TUUS TUF, AR gR, U Sl TEReHH YRTaTigeh SO
YRR U HhTiRId HUT |
B. AT USY[H Gl qearsHH el THSTd! YHe Jeeia1g @ |
c.%&ﬁéﬁ@zqswﬂmwﬁm-wmmﬂmmﬁmw
|
D. GIiviicrs: UdhaTe Wi Ul Wigldd b <afsar 3|
E. GERIGHIC 31D d-6-Ttgd! GrTeTa HhIfd -7 $gR: Wdiied Ifd |

Fgiead fadedaTe Ugl S 81 3|

.A,B.DHH

2.B.C.EHH

3.B,D,EHA

4.A.C.DHHA

Question Number : 125 Question Id : 3421237367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tl U UATohT S T oelehl Gl el e el &)

A, “THTZD YU, el gR°, IS STl TeReAT URTaTgeb 0T
IR Ui AT HTRId HUeT T
B. AT USY[H Gl qearsHH el THSTd! YHe Jeeia1g @ |
c.‘;’%&&éﬁ@mwww@m-mmwmﬁww
|
D. GIfvifcrs: e WepIfRId Uil Wfefede ufia TFsar gl
E. GERIGHIC 31D d-6-Ttgd! GrTeTa HhIfd -7 $gR: Wdiied Ifd |

frafeifad fdeuare 8l I @1 gl

.A,B.DHH

2.B.C.EHH

3.B,D,EHA

4.A.C.DHHA

Question Number : 126 Question Id : 3421237368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl 1-T YRIUT U 31 Gl 11 T {1 iged! SisT s gy

g T
e, S, Wigq| 1L | Heca
IMERY, 8, @icy | 1L |drecdl
Uiy, oo, Wiyl | IV, | Seridl

frafaRad fddeaere ggl 3 o gyl

1. A-IT, B-1, C-1V, D-III

olo|w|s

2. A-IIL B-IV. C-1, D-II
3. A-IV, B-1, C-II, D-III

4. A-IL B-1V, C-L, D-III



Question Number : 126 Question Id : 3421237368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl 1-T1 YRIYT U 31 i 11 -l o1 Figed! SisT s gy

T T

Hhdp, ST, wWizg| 1. |eddl
BN, 9, Wbicy | IIL |9
qifery, 9@, TH® | IV, | e

frafiad fadbedare ¥el 3w B1d gy

1. A-IT, B-1, C-1V, D-III

olo|w|s

2. A-IIL B-IV. C-1, D-II
3. A-IV, B-1, C-II, D-III

4. A-IL B-IV, C-L, D-III

Question Number : 127 Question Id : 3421237369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1 31 Gelt 1 AT el < o el Wil R SR fe gl

a1 i
1@ X WD | GTETE Sivid! [aR Hs SUrd o o i
ST HTPH YT

B. W@ 1. |f3 Y 9ad] e ol AR Y ool SR am Tie! 4T
C |viEgR | OO0 | WeH SR Grd Y TR Bic &l
D. [T U™ IV. | WM TGS T TedRID] WHig D Tl HU

fgfcrad fdeuste 8l IR &1 3l

1. A-IL B-1V, G-I D-I

A | TdI®T L

2. A-IV,B-III, C-I, D-II
3. AL B-IV, C-I, D-II

4. A-IV, B-IIL, C-II, D-I

Question Number : 127 Question Id : 3421237369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et 1 31 Gl 1 A el < o el el R SR e B

Tt LRI
@] < UTRTEe] GTeTe sivd] %R Y3 Surd o 3o i
ST YU YT

B |Uddl 1. ({5 L gaa] UNTETE di AP H3 vl cXUegH] Fi! HFT
C. |wicrp@ ol | L |We DU G Ry W aicl ol
D |THER IV. | W ] 5 SeaRio! Tl H o

FHfoad fdpeusTe el 3R S gl

1. A-IL B-IV, C-IIL D-I

A |UdIdT L

2. A-IV, B-IIL, C-I, D-II
3. AL B-IV, C-I, D-IT

4. A-IV, B-IL, C-II, DI



Question Number : 128 Question Id : 3421237370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y YTETc] TR URPT TR SHhAIDIH] R Ui AT I

&R X G VRAUS] favas! Gl ifs] s gy
el il
Al L [vm
B |J 1. |4
c [k IIL | §igAr® THE
D. |L v, | gl
fefeiRad fadh cete Tel SR 8/ 8

1. A-IL B-1, C- 1V, D-III
2. A-IV,B-IIL, C-11, D-I
3. A-IL B-IIL, G-IV, D-I

4. A-IIL B-1V, C-I1, D-1

Question Number : 128 Question Id : 3421237370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y YTETc] TR URPT TR SHhAIDIH] R Ui AT I

SR X THHIA U] [avd] g1 wiel fea g
LGl il
An L |ymg
B.|J I |4l
c [k IIL | §igAr® THE
D. |L v, | gl
Fgfaiad fabeusre 9el S 8 gl

1. A-IL B-1, C- 1V, D-III
2. A-IV,B-IIL, C-11, D-I
3. A-IL B-IIL, G-IV, D-I

4. A-IIL B-1V, C-II, D-1I

Question Number : 129 Question Id : 3421237371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TTel! TUTdaTe] SUIT ! a1y Wi foreR Wil 13 Gl 11 @1 id X Tgfichl wiis]
fergg 3|

a1 T4 I
A (Ui aueda | L |Rdl o sies
B. |GG aydare | I (e
C
D

| TS UG | L | 25
. | AR qurddte | v, | Are

faRAd faehedare 9e IR B 8|

1. A-IL, B-IV, C- L, D-III

2. A-IL B-I, C-IV, D-1II
3. A-IV,B-[, C-II, D-III

4. A-IV,B-1II, C-1. D-II



Question Number : 129 Question Id : 3421237371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el qdaTe] SUIT ! A= Wi fereR Wit 13 Gl 11 @1 id X Ug il st
firema 2|

T iR
A |UeRmauedae | L |l o sies
B. |GG aydare | I |gel
C
D

| i guae | 1L | R @5
| o Turlarg | v A

fegfaiad fadeudre 9¢ I @ gyl

1. A-IL, B-IV, C- I, D-III

2. A-IL B-I, C-IV, D-III
3. A-IV,B-[, C-II, D-III
4. A-IV,B-TII, C-1. D-II

Question Number : 130 Question Id : 3421237372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



! 11 HITARITHD TR 31 Gl 1 T Tl USRI TRaTge bl wgl fea
Gl

il il
A fmfmm | 1 |defieH
B. QWMWY | I |GEd HIieRH
c. |<fA 101 | U1 qeTed Mo
D. | | IV, |SHwHIwIeTH
gl fadeudTe gl I 8r By

I. A-IlL, B-I, C- IV, D-II
2. A-IL, B-I, C-IV. D-III
3. A-IV, B-IL, C-II, D-1
4. A-IIL B-IV, C-I1, D-I

Question Number : 130 Question Id : 3421237372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 11 USRI RO 3 Gl 1 1 W WITTaqHe] TRage ! wiiel e
g

&l il

fmfmm | 1 |ddifeH

WU | 1 |9gd YT

CitE 111 | UfeRTTee eI HISTia
HEHE | IV, | Sy

frgfead fadegare 9g I SR 3y

1. A-IlL, B, C- IV, D-II

2| o | w| =

2. A-IL B-I, C-IV, D-III
3. A-IV, B-IIL, C-II, D-I

4. AL B-IV, C-I1, D-I



Question Number : 131 Question Id : 3421237373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AEHITNITG cadleTehl Hgldbled 3 fddT YhRMGTad] SisT e 2y

Gll Gl
AMP-dcl I [3H Gy
RNER] I |THREY

ERERG I (34 2%%5
MERITUAG | IV. |3 H 9838y

frafeiad faseuare 98l S 3rd Byl
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ola|lw|r

2. A-1IV, B-IL, C-11, D-1
3. A-IL, B-III, C-IV, D-1

4. A-III, B-1V, C-I1, D-1

Question Number : 131 Question Id : 3421237373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ola|w|e
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Question Number : 132 Question Id : 3421237374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 132 Question Id : 3421237374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. A-IIL, B-I, C-1IV, D-II

4. A-IV, B-1, C-II, D-III

Question Number : 133 Question Id : 3421237375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. A-IIL B-1V, C-1, D-II

Question Number : 133 Question Id : 3421237375 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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2. A-IV, B-1II, C-I, D-II
3. A-III, B-IV, C-IL, D-1

4. A-IIL B-IV, C-I, D-II

Question Number : 134 Question Id : 3421237376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l MOl SR GRdTe fafir fvae] Rdbged! [aHTeH 3 [avaitd o4 S

g TR TR, 1 3R el 1 ¥ Gl 11 A0y ) it ] g1
il il
A |y I |100-199
B. |G YA 1. |300-399
C. |gfed 111 | 400-499
D. |gAeagH | IV |800-899
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Question Number : 134 Question Id : 3421237376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. A-IL B-L, C-IV, D-III
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Question Number : 135 Question Id : 3421237377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 135 Question Id : 3421237377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 136 Question Id : 3421237378 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 136 Question Id : 3421237378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 137 Question Id : 3421237379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T et fafay TR foTeh! ST e 1T Tl R TRa! i fdR 71¢ el
X ¥l 11 13 e ol el 2

il Ll
TG L |6 §erge g, Sidkm fafemra g
e 1L (T FRiTel, Ml g Ul faiuiee Suar 6

BRG] 111 | 3o wde g, W Ve g1
G| IV | UGE® A1 ) g, T g

gl fadeudTe gl I 8r By

L AL B-IV, C- 11, D-I

D | o | w| e

2. A-IL, B-I, C-IV. D-III
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Question Number : 137 Question Id : 3421237379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 138 Question Id : 3421237380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 138 Question Id : 3421237380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 139 Question Id : 3421237381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 139 Question Id : 3421237381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 140 Question Id : 3421237382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 140 Question Id : 3421237382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2



Sub-Section Id : 342123292
Question Shuffling Allowed : No

Question Id : 3421237383 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 3421237384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421237385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421237386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 3421237387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421237388 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421237383 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 3421237384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421237385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421237386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 3421237387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421237388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123293
Question Shuffling Allowed : No

Question Id : 3421237389 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237390 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421237393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421237389 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421237393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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